

**CERTAIN CLASSES GENERATING FUNCTIONS ASSOCIATED
 WITH THE ALEPH-FUNCTION OF SEVERAL VARIABLES II**

Frédéric Ayant

Teacher in High School, France
 E-mail: fredericayant@gmail.com

Abstract: In this paper, we present two new generating functions involving multivariable Aleph-function, the I-function of several variables and Aleph-function of two variables. The mains results of our document are quite general in nature and capable of yielding a very large number of generating functions involving polynomials and various special functions occurring in the problem of mathematical analysis and mathematical physics and mechanics.

Keywords and Phrases: Generalized multivariable Aleph-function, Aleph-function of two variables, generating functions, multivariable I-function.

2010 Mathematics Subject Classification: 33C99, 33C60, 44A20.

1. Introduction and preliminaries

The Aleph-function of several variables is an extension of the multivariable I-function defined by C.K. Sharma and Ahmad [4], itself is an a generalisation of G and H-functions of multiple variables defined by Srivastava et al [6]. The multiple Mellin-Barnes integral occurring in this paper will be referred to as the multi-variables Aleph-function throughout our present study and will be defined and represented as follows.

We have,

$$\aleph(z_1, \dots, z_r) = \aleph_{p_i, q_i, \tau_i; R: p_{i(1)}, q_{i(1)}, \tau_{i(1)}; R^{(1)}; \dots; p_{i(r)}, q_{i(r)}, \tau_{i(r)}; R^{(r)}}^{0, n; m_1, n_1, \dots, m_r, n_r}$$

$$\left(\begin{array}{l} z_1 \\ \cdot \\ \cdot \\ \cdot \\ z_r \end{array} \middle| \begin{array}{l} [(a_j; \alpha_j^{(1)}, \dots, \alpha_j^{(r)})_{1, n}], [\tau_i(a_{ji}; \alpha_{ji}^{(1)}, \dots, \alpha_{ji}^{(r)})_{n+1, p_i}] : [(c_j^{(1)}, \gamma_j^{(1)})_{1, n_1}], \\ \dots\dots\dots [\tau_i(b_{ji}; \beta_{ji}^{(1)}, \dots, \beta_{ji}^{(r)})_{m+1, q_i}] : [(d_j^{(1)}, \delta_j^{(1)})_{1, m_1}], \end{array} \right)$$

$$\begin{aligned}
 & \left(\begin{aligned} & [\tau_{i(1)}(c_{ji(1)}^{(1)}, \gamma_{ji(1)}^{(1)})_{n_1+1, p_i^{(1)}}]; \dots; [(c_j^{(r)}, \gamma_j^{(r)})_{1, n_r}], [\tau_{i(r)}(c_{ji(r)}^{(r)}, \gamma_{ji(r)}^{(r)})_{n_r+1, p_i^{(r)}}] \\ & [\tau_{i(1)}(d_{ji(1)}^{(1)}, \delta_{ji(1)}^{(1)})_{m_1+1, q_i^{(1)}}]; \dots; [(d_j^{(r)}, \delta_j^{(r)})_{1, m_r}], [\tau_{i(r)}(d_{ji(r)}^{(r)}, \delta_{ji(r)}^{(r)})_{m_r+1, q_i^{(r)}}] \end{aligned} \right) \\
 & = \frac{1}{(2\pi\omega)^r} \int_{L_1} \dots \int_{L_r} \psi(s_1, \dots, s_r) \prod_{k=1}^r \theta_k(s_k) z_k^{s_k} ds_1 \dots ds_r \tag{1.1}
 \end{aligned}$$

with $\omega = \sqrt{-1}$

For more details, see Ayant [1,2].

The reals numbers τ_i are positives for $i = 1, \dots, R, \tau_i(k)$, are positives for $i^{(k)} = 1, \dots, R^{(k)}$. The condition for absolute convergence of multiple Mellin-Barnes type contour (1.9) can be obtained by extension of the corresponding conditions for multivariable H-function given by as :

$$\begin{aligned}
 |\arg z_k| < \frac{1}{2} A_i^{(k)} \pi, \text{ where } A_i^{(k)} &= \sum_{j=1}^n \alpha_j^{(k)} - \tau_i \sum_{j=n+1}^{p_i} \alpha_{ji}^{(k)} - \tau_i \sum_{j=1}^{q_i} \beta_{ji}^{(k)} + \sum_{j=1}^{n_k} \gamma_j^{(k)} - \\
 \tau_{i(k)} \sum_{j=n_k+1}^{p_i(k)} \gamma_{ji(k)}^{(k)} + \sum_{j=1}^{m_k} \delta_j^{(k)} - \tau_{i(k)} \sum_{j=m_k+1}^{q_i(k)} \delta_{ji(k)}^{(k)} &> 0, \tag{1.2}
 \end{aligned}$$

with $k = 1, \dots, r, i = 1, \dots, R$ an $i^{(k)} = 1, \dots, R^{(k)}$.

The complex numbers z_i are not zero. Throughout this document, we assume the existence and absolute convergence conditions of the multivariable Aleph-function. We may establish the asymptotic expansion in the following convenient form:

$$\begin{aligned}
 \aleph(z_1, \dots, z_r) &= 0(|z_1|^{\alpha_1}, \dots, |z_r|^{\alpha_r}), \max(|z_1|, \dots, |z_r|) \rightarrow 0 \\
 \aleph(z_1, \dots, z_r) &= 0(|z_1|^{\beta_1}, \dots, |z_r|^{\beta_r}), \min(|z_1|, \dots, |z_r|) \rightarrow \infty
 \end{aligned}$$

where $k = 1, \dots, r; \alpha_k = \min[Re(d_j^{(k)}/\delta_j^{(k)})], j = 1, \dots, m_k$ and $\beta_k = \max[Re((c_j^{(k)} - 1)/\gamma_j^{(k)})], j = 1, \dots, n_k$.

We will use these following notations in this paper

$$U = p_i, q_i, \tau_i; R; V = m_1, n_1; \dots; m_r, n_r \tag{1.3}$$

$$W = p_{i(1)}, q_{i(1)}, \tau_{i(1)}; R^{(1)}, \dots, p_{i(r)}, q_{i(r)}, \tau_{i(r)}; R^{(r)} \tag{1.4}$$

$$A = \left\{ (a_j; \alpha_j^{(1)}, \dots, \alpha_j^{(r)})_{1, n} \right\}, \left\{ \tau_i(a_{ji}; \alpha_{ji}^{(1)}, \dots, \alpha_{ji}^{(r)})_{n+1, p_i} \right\} \tag{1.5}$$

$$B = \left\{ \tau_i(b_{ji}; \beta_{ji}^{(1)}, \dots, \beta_{ji}^{(r)})_{m+1, q_i} \right\} \tag{1.6}$$

$$\begin{aligned}
 C &= \left\{ (c_j^{(1)}; \gamma_j^{(1)})_{1, n_1}, \tau_{i(1)}(c_{ji(1)}^{(1)}; \gamma_{ji(1)}^{(1)})_{n_1+1, p_{i(1)}} \right\}, \\
 &\dots, \left\{ (c_j^{(r)}; \gamma_j^{(r)})_{1, n_r}, \tau_{i(r)}(c_{ji(r)}^{(r)}; \gamma_{ji(r)}^{(r)})_{n_r+1, p_{i(r)}} \right\}
 \end{aligned} \tag{1.7}$$

$$\begin{aligned}
 D &= \left\{ (d_j^{(1)}; \delta_j^{(1)})_{1, m_1}, \tau_{i(1)}(d_{ji(1)}^{(1)}; \delta_{ji(1)}^{(1)})_{m_1+1, q_{i(1)}} \right\}, \\
 &\dots, \left\{ (d_j^{(r)}; \delta_j^{(r)})_{1, m_r}, \tau_{i(r)}(d_{ji(r)}^{(r)}; \delta_{ji(r)}^{(r)})_{m_r+1, q_{i(r)}} \right\}
 \end{aligned} \tag{1.8}$$

The multivariable Aleph-function write

$$\aleph(z_1, \dots, z_r) = \aleph_{U:W}^{0, n:V} \left(\begin{array}{c|c} z_1 & A : C \\ \cdot & \dots \\ \cdot & \\ \cdot & B : D \\ z_r & \end{array} \right) \tag{1.9}$$

2. Required result

Now using the following combinatorial identity, see Raina [3].

$$\begin{aligned}
 \sum_{k=0}^{\infty} \binom{\mu + k - 1}{k}^{-1} \binom{\lambda + k - 1}{k} \binom{\alpha + k - 1}{k} \\
 \times {}_2F_1[\lambda + k, \mu - \alpha; \mu + k; z] = (1 - z)^{-\lambda}
 \end{aligned} \tag{2.1}$$

with $|z| < 1$.

3. Main Results

Let $\Omega_a(z_1, \dots, z_s)$ an identically nonvanishing function of s complex variables and of complex order a

Theorem 1. Let

$$\begin{aligned}
 \gamma_{a, \rho, m, \sigma, \lambda}^{(1)}[y_1, \dots, y_r; z_1, \dots, z_s; t] &= \sum_{k=0}^{\infty} \frac{a_k \Omega_{a+\rho k}(z_1, \dots, z_s) t^k}{(mk)!} \\
 \aleph_{U_{10}:W}^{0, n+1:V} \left(\begin{array}{c|c} y_1 & (1 - \lambda - \sigma mk - mk; \epsilon_1, \dots, \epsilon_r), A : C \\ \cdot & \dots \\ \cdot & \\ \cdot & B : D \\ y_r & \end{array} \right)
 \end{aligned} \tag{3.1}$$

and

$$R_{n,m}^{a,\rho,\lambda,\mu,\alpha}[y_1, \dots, y_r; z_1, \dots, z_s; \eta] = \sum_{k=0}^{[n/m]} B_{k,n,m}^{\lambda,\sigma,\mu,\alpha}[y_1, \dots, y_r; z_1, \dots, z_s; t] \\ \left(\begin{matrix} \mu + n + \sigma mk - 1 \\ n - mk \end{matrix} \right)^{-1} \left(\begin{matrix} \alpha + n + \sigma mk - 1 \\ n - mk \end{matrix} \right) \frac{a_k \Omega_{a+\rho k}(z_1, \dots, z_s)}{(mk)!(n-mk)!} \eta^k \quad (3.2)$$

where

$$B_{k,n,m}^{\lambda,\sigma,\mu,\alpha}(y_1, \dots, y_r; t) = \sum_{l=0}^{\infty} \frac{(\mu - \alpha)_l t^l}{(\mu + n + \sigma mk)_l!} \\ \mathbb{N}_{U_{10}:W}^{0,n+1;V} \left(\begin{matrix} y_1 \\ \cdot \\ \cdot \\ \cdot \\ y_r \end{matrix} \middle| \begin{matrix} (1 - \lambda - \sigma mk - n - l; \epsilon_1, \dots, \epsilon_r), A : C \\ \dots \\ B : D \end{matrix} \right) \quad (3.3)$$

then

$$\sum_{n=0}^{\infty} R_{n,m}^{a,\rho,\lambda,\sigma,\mu,\alpha}[y_1, \dots, y_r; z_1, \dots, z_s; \eta] t^n \\ = (1-t)^{-\lambda} \gamma_{a,\rho,m,\sigma,\lambda}^{(1)} \left[\frac{y_1}{(1-t)^{\epsilon_1}}, \dots, \frac{y_r}{(1-t)^{\epsilon_r}}; z_1, \dots, z_s; \frac{\eta t^m}{(1-t)^{(\sigma+1)m}} \right] \quad (3.4)$$

where $U_{10} = p_i + 1, q_i, \tau_i; R$.

Theorem 2. Let

$$\gamma_{a,\rho,m,\sigma,\lambda}^{(2)}[y_1, \dots, y_r; z_1, \dots, z_s; t] = \sum_{k=0}^{\infty} (-)^{mk} a_k \Omega_{a+\rho k}(z_1, \dots, z_s) t^k \\ \mathbb{N}_{U_{11}:W}^{0,n+1;V} \left(\begin{matrix} y_1 \\ \cdot \\ \cdot \\ \cdot \\ y_r \end{matrix} \middle| \begin{matrix} (1 - \lambda - mk - \omega k - \sigma mk; \epsilon_1, \dots, \epsilon_r), A : C \\ \dots \\ (-\lambda - \omega k - mk - \sigma mk; \epsilon_1, \dots, \epsilon_r), B : D \end{matrix} \right) \quad (3.5)$$

and

$$V_{n,m}^{a,\rho,\lambda,\sigma,\omega,\mu,\alpha}[y_1, \dots, y_r; z_1, \dots, z_s; \eta] = \sum_{k=0}^{[n/m]} F_{k,n,m}^{\lambda,\sigma,\omega,\mu,\alpha}[y_1, \dots, y_r; t] \\ \left(\begin{matrix} \mu + n + \sigma mk - 1 \\ n - mk \end{matrix} \right)^{-1} \left(\begin{matrix} \alpha + n + \sigma mk - 1 \\ n - mk \end{matrix} \right) (-)^{mk} a_k \Omega(z_1, \dots, z_s) \eta^k \quad (3.6)$$

where

$$F_{k,n,m}^{\lambda,\sigma,\omega,\mu,\alpha}(y_1, \dots, y_r; t) = \sum_{l=0}^{\infty} \frac{(\mu - \alpha)_l t^l}{(\mu + n + \sigma mk)_l l!}$$

$$\mathbb{N}_{U_{11}:W}^{0,n+1:V} \left(\begin{array}{c} y_1 \\ \cdot \\ \cdot \\ \cdot \\ y_r \end{array} \middle| \begin{array}{l} (1 - \lambda - n - \sigma mk - \omega k - l; \epsilon_1, \dots, \epsilon_r), A : C \\ \dots \\ (-\lambda - \omega k - mk - \sigma mk; \epsilon_1, \dots, \epsilon_r), B : D \end{array} \right) \quad (3.7)$$

then

$$\sum_{n=0}^{\infty} V_{n,m}^{a,\rho,\lambda,\sigma,\omega,\mu,\alpha}[y_1, \dots, y_r; z_1, \dots, z_s; \eta] t^n$$

$$= (1 - t)^{-\lambda} \gamma_{m,a,\rho,\lambda,\sigma,\omega}^{(2)} \left[\frac{y_1}{(1 - t)^{\epsilon_1}}, \dots, \frac{y_r}{(1 - t)^{\epsilon_r}}; z_1, \dots, z_s; \frac{\eta t^m}{(1 - t)^{(\sigma+1)m+\omega}} \right] \quad (3.8)$$

where $U_{11} = p_i + 1, q_i, \tau_i; R$.

Proof of Theorem 1. Let

$$m\{\} = \frac{1}{(2\pi\omega)^r} \int_{L_1} \dots \int_{L_r} \psi(s_1, \dots, s_r) \prod_{k=1}^r \theta_k(s_k) \{\} \quad (3.9)$$

We denote the left hand side of the the assertion (3.4) of theorem 1 by $P(y_1, \dots, y_r; z_1, \dots, z_s, t)$ then use the definitions (3.2) and (3.3), we have

$$P(y_1, \dots, y_r; z_1, \dots, z_s, t) = \sum_{n,l=0}^{\infty} \sum_{k=0}^{[n/m]} \frac{(\mu - \alpha)_l t^l}{(\mu + n + \sigma mk)_l l!}$$

$$\left(\begin{array}{c} \mu + n + \sigma mk - 1 \\ n - mk \end{array} \right)^{-1} \left(\begin{array}{c} \alpha + n + \sigma mk - 1 \\ n - mk \end{array} \right) \frac{a_k \Omega_{a+\rho k}(z_1, \dots, z_s)}{(mk)!(n - mk)!} \eta^k$$

$$\mathbb{N}_{U_{10}:W}^{0,n+1:V} \left(\begin{array}{c} y_1 \\ \cdot \\ \cdot \\ \cdot \\ y_r \end{array} \middle| \begin{array}{l} (1 - \lambda - \sigma mk - n - l; \epsilon_1, \dots, \epsilon_r), A : C \\ \dots \\ B : D \end{array} \right) t^n \quad (3.10)$$

Now using the definition of multivariable Aleph-function from (1.1) and changing the order of summation and integration and then on making series rearrangement

therein, it takes following form,

$$\begin{aligned}
 P(y_1, \dots, y_r; z_1, \dots, z_s, t) &= M \left[\sum_{n,l,k=0}^{\infty} \frac{(\mu - \alpha)_l t^l}{(\mu + n + mk + \sigma mk)_l l!} \frac{a_k \Omega_{a+\rho k}(z_1, \dots, z_s)}{(mk)! n!} \right. \\
 &\quad \left(\begin{matrix} \mu + n + mk + \sigma mk - 1 \\ n \end{matrix} \right)^{-1} \left(\begin{matrix} \alpha + n + \sigma mk - 1 \\ n \end{matrix} \right) \\
 &\quad \left. \Gamma(\lambda + n + mk + \sigma nk + l + \sum_{i=1}^r \epsilon_i s_i) \eta^k t^{n+mk} \right] ds_1, \dots, ds_r \quad (3.11)
 \end{aligned}$$

Now in view of the relation

$$\frac{\Gamma(\rho + n + l)}{n!} = (\rho + n)_i \left(\begin{matrix} \rho + n - 1 \\ n \end{matrix} \right) \Gamma(\rho) \quad (3.12)$$

and then interpreting the inner series into Gauss' hypergeometric function ${}_2F_1$, we have

$$\begin{aligned}
 P(y_1, \dots, y_r; z_1, \dots, z_s, t) &= M \left[\sum_{k=0}^{\infty} \left\{ \sum_{n=0}^{\infty} \left(\begin{matrix} \mu + n + mk + \sigma mk + \sum_{i=1}^r s_i \epsilon_i - 1 \\ n \end{matrix} \right) \right. \right. \\
 &\quad \left. \left(\begin{matrix} \mu + n + mk + \sigma mk - 1 \\ n \end{matrix} \right)^{-1} \left(\begin{matrix} \alpha + n + mk + \sigma mk - 1 \\ n \end{matrix} \right) \right. \\
 &\quad \left. \left. {}_2F_1 \left[\lambda + n + mk + \sum_{i=1}^r \epsilon_i s_i, \mu - \alpha; \mu + n + mk; t \right] t^n \right\} \frac{a_k \Omega_{a+\rho k}(z_1, \dots, z_s)}{(mk)! n!} \right. \\
 &\quad \left. \Gamma(\lambda + mk + \sigma km + \sum_{i=1}^r s_i \epsilon_i) \right] ds_1 \dots ds_r \quad (3.13)
 \end{aligned}$$

Now using the combinatorial identity (2.1) and then interpreting the resulting contour integral into the multivariable Aleph-function with the help of (1.1), we obtain the desired result (3.1).

Similarly the proof of the theorem 2 use the same method to that theorem 1.

4. Multivariable I-function

If $\tau_i, \tau_{i(1)}, \dots, \tau_{i(r)} \rightarrow 1$, the Aleph-function of several variables reduces to the I-function of several variables. The two generating relationships involving multivariable I-function defined by Sharma et al [4] have been derived in this section.

Corollary 1. Let

$$\gamma_{a,\rho,m,\sigma,\lambda}^{(1)}[y_1, \dots, y_r; z_1, \dots, z_s; t] = \sum_{k=0}^{\infty} \frac{a_k \Omega_{a+\rho k}(z_1, \dots, z_s) t^k}{(mk)!}$$

$$I_{U_{10}:W}^{0,n+1:V} \left(\begin{array}{c|c} y_1 & (1 - \lambda - \sigma mk - mk; \epsilon_1, \dots, \epsilon_r), A : C \\ \cdot & \dots \\ \cdot & B : D \\ y_r & \end{array} \right) \quad (4.1)$$

and

$$R_{n,m}^{a,\rho,\lambda,\mu,\alpha}[y_1, \dots, y_r; z_1, \dots, z_s; \eta] = \sum_{k=0}^{[n/m]} B_{k,n,m}^{\lambda,\sigma,\mu,\alpha}[y_1, \dots, y_r; z_1, \dots, z_s; t]$$

$$\left(\begin{array}{c} \mu + n + \sigma mk - 1 \\ n - mk \end{array} \right)^{-1} \left(\begin{array}{c} \alpha + n + \sigma mk - 1 \\ n - mk \end{array} \right) \frac{a_k \Omega_{a+\rho k}(z_1, \dots, z_s)}{(mk)!(n - mk)!} \eta^k \quad (4.2)$$

where

$$B_{k,n,m}^{\lambda,\sigma,\mu,\alpha}(y_1, \dots, y_r; t) = \sum_{l=0}^{\infty} \frac{(\mu - \alpha) t^l}{(\mu + n + \sigma mk)_l l!}$$

$$I_{U_{10}:W}^{0,n+1:V} \left(\begin{array}{c|c} y_1 & (1 - \lambda - \sigma mk - n - l; \epsilon_1, \dots, \epsilon_r), A : C \\ \cdot & \dots \\ \cdot & B : D \\ y_r & \end{array} \right) \quad (4.3)$$

then

$$\sum_{n=0}^{\infty} R_{n,m}^{a,\rho,\lambda,\sigma,\mu,\alpha}[y_1, \dots, y_r; z_1, \dots, z_s; \eta] t^n$$

$$= (1 - t)^{-\lambda} \gamma_{a,\rho,m,\sigma,\lambda}^{(1)} \left[\frac{y_1}{(1 - t)^{\epsilon_1}}, \dots, \frac{y_r}{(1 - t)^{\epsilon_r}}; z_1, \dots, z_s; \frac{\eta t^m}{(1 - t)^{(\sigma+1)m}} \right] \quad (4.4)$$

under the same notations and conditions that theorem 1.

Corollary 2. Let

$$\gamma_{a,\rho,m,\sigma,\lambda}^{(2)}[y_1, \dots, y_r; z_1, \dots, z_s; t] = \sum_{k=0}^{\infty} (-)^{mk} a_k \Omega_{a+\rho k}(z_1, \dots, z_s) t^k$$

$$I_{U_{11}:W}^{0,n+1;V} \left(\begin{array}{c} y_1 \\ \cdot \\ \cdot \\ \cdot \\ y_r \end{array} \middle| \begin{array}{l} (1 - \lambda - mk - \omega k - \sigma mk; \epsilon_1, \dots, \epsilon_r), A : C \\ \dots \\ (-\lambda - \omega k - mk - \sigma mk; \epsilon_1, \dots, \epsilon_r), B : D \end{array} \right) \quad (4.5)$$

and

$$V_{n,m}^{a,\rho,\lambda,\sigma,\omega,\mu,\alpha}[y_1, \dots, y_r; z_1, \dots, z_s; \eta] = \sum_{k=0}^{[n/m]} F_{k,n,m}^{\lambda,\sigma,\omega,\mu,\alpha}[y_1, \dots, y_r; t] \\ \left(\begin{array}{c} \mu + n + \sigma mk - 1 \\ n - mk \end{array} \right)^{-1} \left(\begin{array}{c} \alpha + n + \sigma mk - 1 \\ n - mk \end{array} \right) (-)^{mk} a_k \Omega(z_1, \dots, z_s) \eta^k \quad (4.6)$$

where

$$F_{k,n,m}^{\lambda,\sigma,\omega,\mu,\alpha}(y_1, \dots, y_r; t) = \sum_{l=0}^{\infty} \frac{(\mu - \alpha)_l t^l}{(\mu + n + \sigma mk)_l l!} \\ I_{U_{11}:W}^{0,n+1;V} \left(\begin{array}{c} y_1 \\ \cdot \\ \cdot \\ \cdot \\ y_r \end{array} \middle| \begin{array}{l} (1 - \lambda - n - \sigma mk - \omega k - l; \epsilon_1, \dots, \epsilon_r), A : C \\ \dots \\ (-\lambda - \omega k - mk - \sigma mk; \epsilon_1, \dots, \epsilon_r), B : D \end{array} \right) \quad (4.7)$$

then

$$\sum_{n=0}^{\infty} V_{n,m}^{a,\rho,\lambda,\sigma,\omega,\mu,\alpha}[y_1, \dots, y_r; z_1, \dots, z_s; \eta] t^n \\ = (1 - t)^{-\lambda} \gamma_{m,a,\rho,\lambda,\sigma,\omega}^{(2)} \left[\frac{y_1}{(1 - t)^{\epsilon_1}}, \dots, \frac{y_r}{(1 - t)^{\epsilon_r}}; z_1, \dots, z_s; \frac{\eta t^m}{(1 - t)^{(\sigma+1)m+\omega}} \right] \quad (4.8)$$

under the same notations and conditions that theorem 2.

Remark. we obtain the same results with the multivariable H-function defined by Srivastava et al [6]. These results are the extensions of the formulae due to Srivastava et al, for more detail, see [7].

5. Aleph-function of two variables

If $r = 2$, the multivariable Aleph-function reduces Aleph-function of two variables defined by K.Sharma [5], and we have the following formulae.

Corollary 3. Let

$$\gamma_{a,\rho,m,\sigma,\lambda}^{(1)}[y_1, y_2; z_1, \dots, z_r; t] = \sum_{k=0}^{\infty} \frac{a_k \Omega_{a+\rho k}(z_1, \dots, z_s) t^k}{(mk)!}$$

$$\mathfrak{N}_{U_{10}:W}^{0,n+1;V} \left(\begin{array}{c|c} \begin{matrix} y_1 \\ \cdot \\ \cdot \\ \cdot \\ y_2 \end{matrix} & \begin{matrix} (1 - \lambda - \sigma mk - mk; \epsilon_1, \epsilon_2), A : C \\ \dots \\ B : D \end{matrix} \end{array} \right) \tag{5.1}$$

and

$$R_{n,m}^{a,\rho,\lambda,\mu,\alpha}[y_1, y_2; z_1, \dots, z_s; \eta] = \sum_{k=0}^{[n/m]} B_{k,n,m}^{\lambda,\sigma,\mu,\alpha}[y_1, y_2; z_1, \dots, z_s; t] \left(\begin{array}{c} \mu + n + \sigma mk - 1 \\ n - mk \end{array} \right)^{-1} \left(\begin{array}{c} \alpha + n + \sigma mk - 1 \\ n - mk \end{array} \right) \frac{a_k \Omega_{a+\rho k}(z_1, \dots, z_s)}{(mk)!(n - mk)!} \eta^k \tag{5.2}$$

where

$$B_{k,n,m}^{\lambda,\sigma,\mu,\alpha}(y_1, y_2; t) = \sum_{l=0}^{\infty} \frac{(\mu - \alpha)_l t^l}{(\mu + n + \sigma mk)_l l!}$$

$$\mathfrak{N}_{U_{10}:W}^{0,n+1;V} \left(\begin{array}{c|c} \begin{matrix} y_1 \\ \cdot \\ \cdot \\ \cdot \\ y_2 \end{matrix} & \begin{matrix} (1 - \lambda - \sigma mk - n - l; \epsilon_1, \epsilon_2), A : C \\ \dots \\ B : D \end{matrix} \end{array} \right) \tag{5.3}$$

then

$$\sum_{n=0}^{\infty} R_{n,m}^{a,\rho,\lambda,\sigma,\mu,\alpha}[y_1, y_2; z_1, \dots, z_s; \eta] t^n = (1 - t)^{-\lambda} \gamma_{a,\rho,m,\sigma,\lambda}^{(1)} \left[\frac{y_1}{(1 - t)^{\epsilon_1}}, \frac{y_2}{(1 - t)^{\epsilon_2}}; z_1, \dots, z_s; \frac{\eta t^m}{(1 - t)^{(\sigma+1)m}} \right] \tag{5.4}$$

under the same notations and conditions that theorem 1.

Corollary 4. Let

$$\gamma_{a,\rho,m,\sigma,\lambda}^{(2)}[y_1, y_2; z_1, \dots, z_r; t] = \sum_{k=0}^{\infty} (-)^{mk} a_k \Omega_{a+\rho k}(z_1, \dots, z_s) t^k$$

$$\mathfrak{N}_{U_{11}:W}^{0,n+1;V} \left(\begin{array}{c|c} \begin{matrix} y_1 \\ \cdot \\ \cdot \\ \cdot \\ y_2 \end{matrix} & \begin{matrix} (1 - \lambda - mk - \omega k - \sigma mk; \epsilon_1, \epsilon_2), A : C \\ \dots \\ (-\lambda - \omega k - mk - \sigma mk; \epsilon_1, \epsilon_2), B : D \end{matrix} \end{array} \right) \tag{5.5}$$

and

$$V_{n,m}^{a,\rho,\lambda,\sigma,\omega,\mu,\alpha}[y_1, y_2; z_1, \dots, z_s; \eta] = \sum_{k=0}^{[n/m]} F_{k,n,m}^{\lambda,\sigma,\omega,\mu,\alpha}[y_1, \dots, y_r; t]$$

$$\left(\begin{matrix} \mu + n + \sigma mk - 1 \\ n - mk \end{matrix} \right)^{-1} \left(\begin{matrix} \alpha + n + \sigma mk - 1 \\ n - mk \end{matrix} \right) (-)^{mk} a_k \Omega(z_1, \dots, z_s) \eta^k \quad (5.6)$$

where

$$F_{k,n,m}^{\lambda,\sigma,\omega,\mu,\alpha}(y_1, y_2; t) = \sum_{l=0}^{\infty} \frac{(\mu - \alpha)_l t^l}{(\mu + n + \sigma mk)_l l!}$$

$$\mathfrak{N}_{U_{11}:W}^{0,n+1:V} \left(\begin{matrix} y_1 \\ \cdot \\ \cdot \\ \cdot \\ y_2 \end{matrix} \middle| \begin{matrix} (1 - \lambda - n - \sigma mk - \omega k - l; \epsilon_1, \epsilon_2), A : C \\ \dots \\ (-\lambda - \omega k - mk - \sigma mk; \epsilon_1, \epsilon_2), B : D \end{matrix} \right) \quad (5.7)$$

then

$$\sum_{n=0}^{\infty} V_{n,m}^{a,\rho,\lambda,\sigma,\omega,\mu,\alpha}[y_1, y_2; z_1, \dots, z_s; \eta] t^n$$

$$= (1 - t)^{-\lambda} \gamma_{m,a,\rho,\lambda,\sigma,\omega}^{(2)} \left[\frac{y_1}{(1-t)^{\epsilon_1}}, \frac{y_2}{(1-t)^{\epsilon_2}}; z_1, \dots, z_s; \frac{\eta t^m}{(1-t)^{(\sigma+1)m+\omega}} \right] \quad (5.8)$$

under the same notations and conditions that theorem 2.

5. Conclusion

Due to general nature of the aleph-function of several variables, our formulae are capable to be reduced into many known and new generating functions for special functions of one and several variables.

References

- [1] Ayant F.Y., An integral associated with the Aleph-functions of several variables, International Journal of Mathematics Trends and Technology (IJMTT). 2016 Vol 31 (3), page 142-154.
- [2] Ayant F.Y., Fourier Bessel Expansion for Aleph-Function of several variables II, Journal of Ramanujan Society of Mathematics and Mathematical Sciences, Vol. 5, No. 1, 2016, pp. 39-46.

- [3] Raina R.K., On a reduction formula involving combinatorial coefficients and hypergeometric function, *Boll. Un. Math.Ital A (ser. 7)*, 1990 (4) page 183-189.
- [4] Sharma C.K. and Ahmad S.S., On the multivariable I-function, *Acta ciencia Indica Math* , 1994 vol. 20,no. 2, p 113-116.
- [5] Sharma K., On the integral representation and applications of the generalized function of two variables, *International Journal of Mathematical Engineering and Sciences* , Vol 3 , issue1 (2014) , page1-13.
- [6] Srivastava H.M. And Panda R., Some expansion theorems and generating relations for the H-function of several complex variables, *Comment. Math. Univ. St. Paul.* 24(1975), p.119-137.
- [7] Srivastava H.M. and Raina R.K., New generating functions for certain polynomial systems associated with the H-function, *Hokkaido. Math. Journal.* 10, (1981), page 34-45.

